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3-3-1 BESBR S41.3.29 H11.7.6 22 4 4,800 |—EHTEE 7L HT AR 4,800
3-3-101 [BEMHILR S41.3.29 H11.7.6 27 4 8,000 [—EHTE&E FIEETmE) ] 6,800
3:3-102 |REEMRAXRTR S33.11.7 H11.7.6 22 4 1,900 |ERETHT —E T\t 1,900
3-4-103 [BEMER S38.9.6 H11.7.6 18 2 7,840 | —HEHTBE FIEETE) ] 5,390
3-4-104 |[FHELBHHETR S538.9.6 H28.12.5 16 2 1,950 [TH&HT T HHET 1,310
3-4-105 [SEEEILER S541.3.29 H11.7.6 16 2 6,450 [ETIALETHR RILETAL 1,280
3-4-106 |REERSFIR S41.3.29 H11.7.6 20 4 2,880 (FIHHETE S FIHMETERSF 2,880
3:4-107  [EEERIFHR S41.3.29 H11.7.6 20 4 4,330 (HTALHTREZ FIERETER =F 580
3-4-108 | LERAHEZ/IER S41.3.29 H11.7.6 16 2 2,200 (HTACET EFAH FRfEHT ) 1] 0
3-5-109 |(BEEHTHIR S41.3.29 H11.7.6 12 2 3,130 | —HEHT&E B FHT 1,300
3-5-110 |FHRE/NEER S43.4.19 H11.7.6 12 2 1,000 |FIFAHT Y B T 1,000
3-4-111 |B=EiHRoEBHR S38.9.6 H11.7.6 16 2 11,230 |BTILETEE=E HEHTR NS 6,567
3:5:112 | B OW/NHEIEHR 558.8.2 H16.1.9 12 2 3,530 |tRfEHETEEIO & EHT 3,530
3:5:113  [ERILEZEFATHR S38.9.6 H11.7.6 12 2 1,300 | LETALL FIHETE S 0
3-5-114  |fEL{EARR S41.3.29 H11.7.6 12 2 1,400 (FIERHETEED L FIEEETEA 800
3-3-115 | A v X —JtERERiR $59.8.17 H11.7.6 25 4 2,300 |HTdL BT4E = EFETACOR 2,300
3-4-116  [PIHEAEIR 549.12.20 H11.7.6 16 2 2,000 |FIHHATER AER T T H 1,450
3-5-117 |[BEILRR S57.7.1 H11.7.6 12 2 1,360 [—EH&E L BT 1,360
3-5-118 |BEILR#R S67.7.1 H11.7.6 12 2 750 |HFEHET L R HT 750
3-3-119  |FEaERERAR S$59.8.17 H24.11.30 25 4 6,770 |FIEHET— / 1 BT AL BT HOR 6,770
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3:5- BR D AR $59.8.17 H11.7.6 12 1,350 |PIEHETERF WRET—T B 1,350
3-4- 78 % M B R H1.3.7 H11.7.6 16 120 |3 FEHT )i 120
3-4- fit o FRALDEAR H5.2.23 H13.5.1 16 1,870 |—EHT88E —Emas 1,870
3-4- EE SR H7.6.30 H11.7.6 20 1,740 (ETdLETEREZE = EPET S EF 1,740
3:4- Y1 1 S8R H7.6.30 H11.7.6 20 600 |ETILETEA pldiEE 430
3-4- YR 2 SEER H7.6.30 H11.7.6 20 1,210 |ETdLETEEE BTt BT 44 1,210
3-4- HETETIEALR S38.9.6 H11.7.6 16 3,400 | B #rHT PIEHETIEA 1,800
3-2: A v % —EaERER AR H11.7.6 H11.7.6 30 2,050 |BT4LBTLA + AT 250
3-5- B =R $57.9.13 $57.9.13 12 2,480 |[db&iEETEE) || bR E =R 2,480
1-4- KRB E K H9.3.14 H28.2.2 21 4,130 |2 BFETAGR g T = 2,020
7-6- 2B R ETIR H10.3.3 H11.7.6 9 1,470 |BRATHET AT 1,470
3-4- B/ TR $63.12.27|  S63.12.27 16 2,090 |AIRETKHEREHE |FRTEsEFI/ 7 0
3:4- NAKE = X FRIR $63.12.27|  S63.12.27 16 980 |AIERETERRENAK [(ARITRER = X 7% 0
3-4- FALF T W R $63.12.27|  S63.12.27 16 230 [JAIERETEREMNI  [AEREETERREAT Y 0
7-6- TV BRI EIR H17.10.28| H17.10.28 11 305 |AIERETERILF BV B [JAI R ATER LIRS 190
7-6- REIRIR 2 BiR H17.10.28| H17.10.28 11 375 |FIRETLHFEE  [JAERAETERLFERI A 0

36EEHR 99,520 65,697




